MA 16200 Exam 2 Spring 2009

1. Evaluate the integral:
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7. Find the length of the curve, y = In(cosz), 0 Lz <
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8. Which infegral represents the area of the surface obtained by revolving the curve,
y=e?®, 0 < z <1, about the y-axis?
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9. Which of the following represents the y—coordinate of the centroid of the bounded
region bounded by y =sinz, y = cosz, £ =0, and z = T, where A is the area of the
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. The series diverges.
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11. Which of the following series converge? | .
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12. Which of the following statements are true?
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